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2 Hours Total Marks: 60

N.B. 1. All questions are compulsory.
2. Figures to the right indicate full marks
3. Draw ncat diagrams wherever necessary

I

3.

4.
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(a) Explain the concepts of Snob appeal and Veblen effect. (8)
(b) Derive a demand curve with the help of price consumption curve. )]
‘ OR

(c) Discuss the minimum wage controversy : t.)
(d) Explain the paradox oftbumpcr harvest s S )
(a) Explam fhe law of variable proportions w1th suxtable 111ustrat10n_ (8)
(b) Explatn the deer'lllon of averape cost curve in the long perlod )
(c) Explain product:un functton with two vanable mputs and show economic region of

production with the help of ridge lines. - ‘ > , 8
.(d) DlSCllSS the least cost factor. combmahon with thc help of sultable diagram. @
(a) What is market stmcture” Enumerate the sources of marlcet power, (8
(b) Explain wnth suitable dlagrarn proﬁt maxmusatlon under dlscnmmatmg

monopoly o L | 7y @)

: OR ol N

(c) Discuss in detail the broad fcatures of monopollstlc competmon Fod " (8)
(d) Examine the basic concepts of game theory Sk $ : < )
(a) Choose- the right opnon from the followmg = o )

i,  The nature. of economxc ‘and busmess problcm lS ‘

a)Identical. ,:j". o S

b) Similar.. %l ‘ L ' el ;

¢) different B .

d) opposite i

ii. Macro economics is not the study of
a) Inﬂatlon y

b) unemployment -

¢) Growth

d) Individual firm

fil.  Total revenue minus total costs (explicit plus implicit costs) is
a) Economic profit
b) Accounting profit.
c) Negative profit.
d) Unexpected profit.
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iv.  The upward shift of Production possibility curve indichles
a) Larger combination of output
b) Larger combination of inputs,
c) Lesser combination of input.
d) Same combination of output.

v.  The private goods are .in consumption
a) Rival, ‘
b) Non-rival
c) Non-exclusive.
d) collective

vi.  Economic inefficiency can be corrected by reducing
" a) Production , \

b) Employment - {
c) Wastages
d) Competition

vii.  Any public spending may gencrale __externalities.
a) Positive =3
b) Negative
c) Both positive and Negative
d) Neither positive nor negative.

(b) Give precise:meaning of the fol!oiii'ing. i )]
i.  Business Economics R ’
ii.  Opportunity cost. . RS o]

-dii.  Accounting profit
iv.  Public goods

OR 7 -
"4. Write short note on any three of the followmg (15)
i.  Scope of Business economics. .-

ii. Band wagon effect, - , }f' 3
1ii. - Elasticity of supply. | o
iv.  Learning curve,

v. _Kinked demand curve,
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